STELLA Model STI06A

General Description : Five-valve (including rectifier), three-waveband
table receiver.

Power Supply : A.C. mains, 110-150 and 200~250 volts, 50-100c/s.

Valves : (V1) ECHS81; (V2) EAF42; (V3) EBC41; (V4) EL41; (V3)
EZ40. ‘

Alignment Procedure : With set on M.W. and gang fully open, inject
a 470-kc/s. signal to the signal grid of V1 via a 47,000-pF. capacitor. Un-
screw LF. cores and then trim in following order: S21/S22/C26 (bottom
core) ; S19/520/C2j (top core); S15/516/Cz1 (bottom); S17/S18/C22 (top).

LF. Filter : Apply signal at intermediate frequency to aerial socket via
dummy aerial. Trim 526 to first minimum from screwed-out core position.

Capacitors. '
Cr1 50 (350 V.) C16 3-30 pF. C3r 2,700 pF. R8 47k (10%, 1 W.)
Cz 50 (350 v.) Cry 370 pL. (1%) C3z 3,300 DF. R8A 47k (10%, 1 W.)
C4 39 PF. (10%) C18 47 DE. (2%) C33 6,800pF.(r,000v.) R 47k (10%)
Cs 11-500 pF. Crg  415DpF. (1%) C34 o1 . R1o IM (10%)
& gwr, e e o wermGom  Ku o akied
. . 12 0-05 + o-
C8 1,800 DF. (408 v. Czz 115 pF. . R13 (iog) 43
10%) C23 47,000 pF. Resistors. R14 1800 (10%, 3 W.)
Co 3-30 pFa C24 o1 Rr 1200 (1 W. 109%) Ris o:1zM (5%)
Cro  amabr 2 o 1 bE R 820 (10%) RIS osit fay
g . o 1 o'IM (10
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. 4 - (4]
Ciq 68 DF. (2%) Cz9 15,000 pF. R6 33k 210%), 1W.) Rz 180

st 3-30 pF, C30 8,200 pF- R7 I'SM (IO%) Rz2z2 4-3k (5%)
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R.F. : Adjust circuits in the order given below.
point is with the gang at minimum capacitance, and in this position the
pointer should line up with the ‘“ o > position on the logging scale.

The H.F. trimming

Pointer or Signal .
Waveband Gang Setting Generator Adjustment
MW. . 550 m. 5455 kc/s. Si4, S8 *
M.W. . Minimum 1630 kc/s. Ci6, Co *
L.W. 1900 m. 157-8 ke/s. So +
S.W. 50 m. 6 Mc/s. Si2, S6 *
S.W. Minimum 201 Mc/s. Cig *

* Repeat if necessary.

1 Swing generator for maximum output, then adjust Sg.



